Janvier

é de l'air

ivi

Controle de la radioact

Observations*

o0 —
1
) 3 81/20/10
N 2
= 81/10/T€
Q o mfv
= 81/10/0€
W'\ 8T/10/62
= 81/10/82
H 81/10/L2
< : 81/10/92
m w 8T/10/S¢
=
=
W_ = 81/10/¥C
w O ¢ 3
& = 81/10/5T
S~ @ = 81/10/22
v . :
= Z 81/10/1¢
o] =
S =
e = 81/10/02
D (@) <5
— = =
[7,) K @ = 81/10/6T
cC Ko =
® O 5 ~ 81/10/81
m =~ A..m 5
o s = 8T/10/L1
- © =
e Sg 2 81/10/91
Q T © O o AW\
© —— 8T/10/ST
) =
] == 81/10/vT
— =
mm er 8T/TO/€T
S
== 81/10/21T
=
= 8T/10/T1
= 81/10/0T
Lo =
s — 81/10/60
=
E= 81/10/80
< M 8T/10/L0
= =
= o 81/10/90
= 81/10/50
= 81/10/v0
W 81/10/€0
O e E:
a = 81/10/20
< =
e . 8T/10/10
m e\ S 1 M 1 N 1N =5 1N O 1 «w 1 N
‘m ,,,, [4) ~ - o Q ]
w:

..‘ p—

(sw/bg) 3401 39 V138 ‘VHATV Xneued sap anbjwn|oA 9110y

prélévement de Filtre/Cartouche - Autres codes : cf. http://balises.criirad.org/aide.htm

*:F/C



